Lesson 1.1: Functions, Domain and
Average Rate of Change

Honors Math 3



Ex 1: Find the followina values for each function:
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Ex 1: Find the followina values for each function:
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Ex 2: Find the following values for each function:

h(x) =[x + 1]
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What is the domain of a function?

% Ihe set of all real number inputs which
produce a valid (or real number) output.




Ex 3: Find of the domain of each function.
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Ex 4: Find of the domain of each function.
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Ex 5: Find of the domain of each function.
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Ex 6: Find of the domain of each function.
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Summary: How to Find the Domain of

a Function
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Average Rate of Change

+ Average Rate of Change:
the slope of the secant line

% secantline
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Ex 7: Find the average rate of change of the following
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Ex 8: f(x) — x% — 2x ?(z.- Y.
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a) Find the average rate of changeLfrom 2 to X.
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Ex 8. f(x)=x%-—2x

b) Use the previous result to find the average
rate of change from 2 to}ai. Interpret this result.
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Ex8: f(x)=x%—2x N Zmx +o

c) Find an equation of the secant line
containing (2, f(2)) and (4, f(4)).
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Ex9: f(x)=5x—2

a) Find the average rate of change from 1 to x.
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Ex9: f(x)=5x—2

b) Use the previous result to find the average
rate of change from 1 to 3. Interpret this result.
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Ex9: f(x)=5x—-2 &

c) Find an equation of the secant line
containing (1, f(1)) and (3, f(3)).
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